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3
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=  (Model Question Paper)

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&

(vvvv) iz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gSA izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gSA izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gSA izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gSA izR;sd iz’u ij 2 vad

vkcafVr gSA vf/kdre ’kCn lhek&30 ’kCn gSAvkcafVr gSA vf/kdre ’kCn lhek&30 ’kCn gSAvkcafVr gSA vf/kdre ’kCn lhek&30 ’kCn gSAvkcafVr gSA vf/kdre ’kCn lhek&30 ’kCn gSA

Instruction:

(a) Question Nos. 1 to 6 are very short ansswer type a questions. Each question

carries 2 marks. (Maximum word limit of answer 30 words).

iz’u 1&iz’u 1&iz’u 1&iz’u 1& 10 ls-eh- O;kl dh ,d pdrh ds ihNs eksecRrh j[kus ij pdrh ds vkxs10 ls-eh- O;kl dh ,d pdrh ds ihNs eksecRrh j[kus ij pdrh ds vkxs10 ls-eh- O;kl dh ,d pdrh ds ihNs eksecRrh j[kus ij pdrh ds vkxs10 ls-eh- O;kl dh ,d pdrh ds ihNs eksecRrh j[kus ij pdrh ds vkxs

pdrh dh Nk;k cu tkrh gS ¼vFkkZr~ izdk’k ugha igqaprk½ ijUrq pdrh dspdrh dh Nk;k cu tkrh gS ¼vFkkZr~ izdk’k ugha igqaprk½ ijUrq pdrh dspdrh dh Nk;k cu tkrh gS ¼vFkkZr~ izdk’k ugha igqaprk½ ijUrq pdrh dspdrh dh Nk;k cu tkrh gS ¼vFkkZr~ izdk’k ugha igqaprk½ ijUrq pdrh ds

ihNs lhVh ctkus ij pdrh ds lkeus mldh /ofu Li"V lqukbZ iM+rh gSihNs lhVh ctkus ij pdrh ds lkeus mldh /ofu Li"V lqukbZ iM+rh gSihNs lhVh ctkus ij pdrh ds lkeus mldh /ofu Li"V lqukbZ iM+rh gSihNs lhVh ctkus ij pdrh ds lkeus mldh /ofu Li"V lqukbZ iM+rh gS

¼vFkkZr~ Nk;k ugha curh½A izdk’k o /ofu ds O;ogkj esa bl vUrj dk D;k¼vFkkZr~ Nk;k ugha curh½A izdk’k o /ofu ds O;ogkj esa bl vUrj dk D;k¼vFkkZr~ Nk;k ugha curh½A izdk’k o /ofu ds O;ogkj esa bl vUrj dk D;k¼vFkkZr~ Nk;k ugha curh½A izdk’k o /ofu ds O;ogkj esa bl vUrj dk D;k

dkj.k gS \dkj.k gS \dkj.k gS \dkj.k gS \

When a candle is kept behind a disc of diameter 10 cm.then the shadow of

disc is formed opposite the disc (means light is not reaching)but when a

whistle is blown behind disc (but shadow is not found). What’s the reason

behind change of this behaviour of light & sound.

iz’u 2&iz’u 2&iz’u 2&iz’u 2& ,d gkbMªkstu ijek.kq esa bysDVªku rFkk izksVkWu ,d nwljs ls ,d gkbMªkstu ijek.kq esa bysDVªku rFkk izksVkWu ,d nwljs ls ,d gkbMªkstu ijek.kq esa bysDVªku rFkk izksVkWu ,d nwljs ls ,d gkbMªkstu ijek.kq esa bysDVªku rFkk izksVkWu ,d nwljs ls 0.534 Å nwjh ij nwjh ij nwjh ij nwjh ij

ca/ks gSA bl fudk; dh fLFkfrt ÅtkZ bysDVªku&oksYV esa Kkr dhft;sAca/ks gSA bl fudk; dh fLFkfrt ÅtkZ bysDVªku&oksYV esa Kkr dhft;sAca/ks gSA bl fudk; dh fLFkfrt ÅtkZ bysDVªku&oksYV esa Kkr dhft;sAca/ks gSA bl fudk; dh fLFkfrt ÅtkZ bysDVªku&oksYV esa Kkr dhft;sA

In a hydrogen atom,the electron and proton are bound at a distance of

about 0.534 Å. Estimate the potential energy of the system in eV.

iz’u 3&iz’u 3&iz’u 3&iz’u 3& folftZr lhlk&lapk;d lsy] iw.kZ vkosf’kr lhlk& lapk;d lsy ls fdlfolftZr lhlk&lapk;d lsy] iw.kZ vkosf’kr lhlk& lapk;d lsy ls fdlfolftZr lhlk&lapk;d lsy] iw.kZ vkosf’kr lhlk& lapk;d lsy ls fdlfolftZr lhlk&lapk;d lsy] iw.kZ vkosf’kr lhlk& lapk;d lsy ls fdl
izdkj fHkUu gksrk gS \ fo|qr okgd cy esa ;k izfrjks/k esa \izdkj fHkUu gksrk gS \ fo|qr okgd cy esa ;k izfrjks/k esa \izdkj fHkUu gksrk gS \ fo|qr okgd cy esa ;k izfrjks/k esa \izdkj fHkUu gksrk gS \ fo|qr okgd cy esa ;k izfrjks/k esa \
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In which respects does a nearly discharge lead accumlator cell differ

mainly from a freshly charged same cell? In its exf or its resistance?

iz’u 4&iz’u 4&iz’u 4&iz’u 4& ,d dq.Myh ,d leku pqEcdh; {ks= esa fLFkr gSA dq.Myh dks fdl izdkj,d dq.Myh ,d leku pqEcdh; {ks= esa fLFkr gSA dq.Myh dks fdl izdkj,d dq.Myh ,d leku pqEcdh; {ks= esa fLFkr gSA dq.Myh dks fdl izdkj,d dq.Myh ,d leku pqEcdh; {ks= esa fLFkr gSA dq.Myh dks fdl izdkj
xfr iznku fd;k tk;s fd mlesa fo|qr okgd cy izsfjr u gksAxfr iznku fd;k tk;s fd mlesa fo|qr okgd cy izsfjr u gksAxfr iznku fd;k tk;s fd mlesa fo|qr okgd cy izsfjr u gksAxfr iznku fd;k tk;s fd mlesa fo|qr okgd cy izsfjr u gksA

A coil is placed in a uniform magnetic field.How should the coil be moved

so that there is no e.m.f. indivced in it?

iz’u 5&iz’u 5&iz’u 5&iz’u 5& ,d v)Zpkyd Mk;ksM ds vxzvfHkur foHko dks 0-5,d v)Zpkyd Mk;ksM ds vxzvfHkur foHko dks 0-5,d v)Zpkyd Mk;ksM ds vxzvfHkur foHko dks 0-5,d v)Zpkyd Mk;ksM ds vxzvfHkur foHko dks 0-5V ls 2 ls 2 ls 2 ls 2V rd ifjofrZr rd ifjofrZr rd ifjofrZr rd ifjofrZr

djus ij mlesa vxzvfHkur /kkjk esa 1-5djus ij mlesa vxzvfHkur /kkjk esa 1-5djus ij mlesa vxzvfHkur /kkjk esa 1-5djus ij mlesa vxzvfHkur /kkjk esa 1-5mA dh o`f) gksrh gSA laf/k Mk;ksM dh o`f) gksrh gSA laf/k Mk;ksM dh o`f) gksrh gSA laf/k Mk;ksM dh o`f) gksrh gSA laf/k Mk;ksM

dk izfrjks/k fdruk gSAdk izfrjks/k fdruk gSAdk izfrjks/k fdruk gSAdk izfrjks/k fdruk gSA

If the forward voltage in a semi conductor diode is changed from 0.5 V to

2 V its forward current increased by 1.5 mA. What is resistance of junction

diode?

iz’u 6&iz’u 6&iz’u 6&iz’u 6& “ ekWMseekWMseekWMseekWMse”  D;k djrk gS \ D;k djrk gS \ D;k djrk gS \ D;k djrk gS \

What does a “MODEM” do?

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&

(cccc) iz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 3 vadiz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 3 vadiz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 3 vadiz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 3 vad

vkcafVr gSA vf/kdre ’kCn lhek&50 ’kCn gSaAvkcafVr gSA vf/kdre ’kCn lhek&50 ’kCn gSaAvkcafVr gSA vf/kdre ’kCn lhek&50 ’kCn gSaAvkcafVr gSA vf/kdre ’kCn lhek&50 ’kCn gSaA

Instruction:

(b) Questions Nos. 7 to 12 are short answer type questions. Each

question carries 3 marks. (Maximum word limit of answer 50 words).

iz’u 7&iz’u 7&iz’u 7&iz’u 7& ,d dq.Myh esa Qsjksa dh la[;k ,d rFkk vuqizLFk dkV dk {ks=Qy ,d dq.Myh esa Qsjksa dh la[;k ,d rFkk vuqizLFk dkV dk {ks=Qy ,d dq.Myh esa Qsjksa dh la[;k ,d rFkk vuqizLFk dkV dk {ks=Qy ,d dq.Myh esa Qsjksa dh la[;k ,d rFkk vuqizLFk dkV dk {ks=Qy 10-4 m2

gS \gS \gS \gS \

What is the magnetic moment associated with a coil of 1 turn, area of

cross section 10-4 m2    carrying a current of 2A

vFkok vFkok vFkok vFkok (OR)

,d n.M pqEcd dks yEckbZ ds vuqfn’k nks cjkcj Hkkx esa dkVus ij mlds,d n.M pqEcd dks yEckbZ ds vuqfn’k nks cjkcj Hkkx esa dkVus ij mlds,d n.M pqEcd dks yEckbZ ds vuqfn’k nks cjkcj Hkkx esa dkVus ij mlds,d n.M pqEcd dks yEckbZ ds vuqfn’k nks cjkcj Hkkx esa dkVus ij mlds
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(i) /kz qo izkcY; /kzqo izkcY; /kzqo izkcY; /kzqo izkcY; (ii) pqEcdh; vk/kw.kZ esa D;k ifjorZu gksxk \pqEcdh; vk/kw.kZ esa D;k ifjorZu gksxk \pqEcdh; vk/kw.kZ esa D;k ifjorZu gksxk \pqEcdh; vk/kw.kZ esa D;k ifjorZu gksxk \

How does the (i) Pole strength and (ii) magnetic moment of each part of a

bar magnet change if it is cut into two equal pieces along its length ?

iz’u 8&iz’u 8&iz’u 8&iz’u 8& 50 okV vkSj 60 okV ds nks fo|qr cYc fn;s x;s gSaA buesa ls dkSu vf/kd50 okV vkSj 60 okV ds nks fo|qr cYc fn;s x;s gSaA buesa ls dkSu vf/kd50 okV vkSj 60 okV ds nks fo|qr cYc fn;s x;s gSaA buesa ls dkSu vf/kd50 okV vkSj 60 okV ds nks fo|qr cYc fn;s x;s gSaA buesa ls dkSu vf/kd

pedsxk ;fn bUgsa pedsxk ;fn bUgsa pedsxk ;fn bUgsa pedsxk ;fn bUgsa (a) Js.khØe esa Js.khØe esa Js.khØe esa Js.khØe esa (b) lekUrj Øe esa tksM+k tk;sAlekUrj Øe esa tksM+k tk;sAlekUrj Øe esa tksM+k tk;sAlekUrj Øe esa tksM+k tk;sA

Two electric bulbs of 50 watt and 60 watt are given . Which one will be

glow more when they are connected

(a) in series and  (b) in parallel

vFkok vFkok vFkok vFkok (OR)

fuEu esa rki fo|qr /kkjk dh fn’kk D;k gksxh&fuEu esa rki fo|qr /kkjk dh fn’kk D;k gksxh&fuEu esa rki fo|qr /kkjk dh fn’kk D;k gksxh&fuEu esa rki fo|qr /kkjk dh fn’kk D;k gksxh&

(i) rkack&fcLeFk rki&oS|qr ;qXe ds BaMs laf/k ij vkSj rkack&fcLeFk rki&oS|qr ;qXe ds BaMs laf/k ij vkSj rkack&fcLeFk rki&oS|qr ;qXe ds BaMs laf/k ij vkSj rkack&fcLeFk rki&oS|qr ;qXe ds BaMs laf/k ij vkSj

(ii) rkack&yksgk rki oS|qr ;qXe ds xeZ laf/k ijA rkack&yksgk rki oS|qr ;qXe ds xeZ laf/k ijA rkack&yksgk rki oS|qr ;qXe ds xeZ laf/k ijA rkack&yksgk rki oS|qr ;qXe ds xeZ laf/k ijA

What is the direction of thermo electric current:

(i) At the cold junction of a copper-bismath thermo-couple and

(ii) At the hot junction of an iron-copper thermo-couple ?

iz’u 9&iz’u 9&iz’u 9&iz’u 9& " fo|qr ’kfDr ds lapj.k esa iz;qDr ifjiFkksa ds fy;s ’kfDr xq.kkad de gksusfo|qr ’kfDr ds lapj.k esa iz;qDr ifjiFkksa ds fy;s ’kfDr xq.kkad de gksusfo|qr ’kfDr ds lapj.k esa iz;qDr ifjiFkksa ds fy;s ’kfDr xq.kkad de gksusfo|qr ’kfDr ds lapj.k esa iz;qDr ifjiFkksa ds fy;s ’kfDr xq.kkad de gksus

dk vFkZ gS] vf/kd ’kfDr {k;Adk vFkZ gS] vf/kd ’kfDr {k;Adk vFkZ gS] vf/kd ’kfDr {k;Adk vFkZ gS] vf/kd ’kfDr {k;A"  bls le>kb;sA bls le>kb;sA bls le>kb;sA bls le>kb;sA

"For circuits used for transmittingelectric power,a low power factor

implies large power loss in transmission." Explain?

iz’u 10&iz’u 10&iz’u 10&iz’u 10& ifjiFk esa nksyu fdl izdkj voeafnr gks tkrk gS \ nksyu dks fdl izdkjifjiFk esa nksyu fdl izdkj voeafnr gks tkrk gS \ nksyu dks fdl izdkjifjiFk esa nksyu fdl izdkj voeafnr gks tkrk gS \ nksyu dks fdl izdkjifjiFk esa nksyu fdl izdkj voeafnr gks tkrk gS \ nksyu dks fdl izdkj

fu;r j[kk tkrk gSAfu;r j[kk tkrk gSAfu;r j[kk tkrk gSAfu;r j[kk tkrk gSA

How do the oscillation undergo damping in an L-C circuit. how are the

oscillation kept constant ?

iz’u 11&iz’u 11&iz’u 11&iz’u 11& “NOR” xsV ls xsV ls xsV ls xsV ls “OR” xsV dSls izkIr djrs gS \xsV dSls izkIr djrs gS \xsV dSls izkIr djrs gS \xsV dSls izkIr djrs gS \

How can you obtain “OR" Gate from "NOR" Gate. construct its truth

table also.
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iz’u 12&iz’u 12&iz’u 12&iz’u 12& bUVjusV ls lacaf/kr fuEu dks le>kb;s&bUVjusV ls lacaf/kr fuEu dks le>kb;s&bUVjusV ls lacaf/kr fuEu dks le>kb;s&bUVjusV ls lacaf/kr fuEu dks le>kb;s&

(i) www MCY;w MCY;w MCY;wMCY;w MCY;w MCY;wMCY;w MCY;w MCY;wMCY;w MCY;w MCY;w

(ii) E-mail bZ&esybZ&esybZ&esybZ&esy

(iii) Chatting pSfVaxpSfVaxpSfVaxpSfVax

Explain the term related to Internet-

(i) www

(ii) E-mail

(iii) Chatting

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&

(llll) iz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 4 vadiz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 4 vadiz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 4 vadiz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 4 vad

vkcafVr gSA vf/kdre ’kCn lhek&75 ’kCn gSAvkcafVr gSA vf/kdre ’kCn lhek&75 ’kCn gSAvkcafVr gSA vf/kdre ’kCn lhek&75 ’kCn gSAvkcafVr gSA vf/kdre ’kCn lhek&75 ’kCn gSA

Instruction:

(c) Question Nos. 13 to 17 are short answer type questions. Each question

carries 4 marks. (Maximum word limit for answer 75 words).

iz’u 13&iz’u 13&iz’u 13&iz’u 13& o.kZ&foiFku ls vki D;k le>rs gSa \ fl) dhft;s fd v{kh; o.kZ&foiFkuo.kZ&foiFku ls vki D;k le>rs gSa \ fl) dhft;s fd v{kh; o.kZ&foiFkuo.kZ&foiFku ls vki D;k le>rs gSa \ fl) dhft;s fd v{kh; o.kZ&foiFkuo.kZ&foiFku ls vki D;k le>rs gSa \ fl) dhft;s fd v{kh; o.kZ&foiFku
fr fv .fyω− =
What do you understand by chromatic abberation? Prove that for axial

abberation fr fv .fyω− =

iz’u14&iz’u14&iz’u14&iz’u14& ;ax ds O;frdj.k iz;ksx esa nks fLyVksa ds chp dh nwjh ;ax ds O;frdj.k iz;ksx esa nks fLyVksa ds chp dh nwjh ;ax ds O;frdj.k iz;ksx esa nks fLyVksa ds chp dh nwjh ;ax ds O;frdj.k iz;ksx esa nks fLyVksa ds chp dh nwjh 2d rFkk muls insZ dh rFkk muls insZ dh rFkk muls insZ dh rFkk muls insZ dh

nwjh nwjh nwjh nwjh D gSA ;fn izdk’k dk rjaxnS/;Z gSA ;fn izdk’k dk rjaxnS/;Z gSA ;fn izdk’k dk rjaxnS/;Z gSA ;fn izdk’k dk rjaxnS/;Z λ  gks rks insZ ij dsUnzh; fÝat ls fdlh gks rks insZ ij dsUnzh; fÝat ls fdlh gks rks insZ ij dsUnzh; fÝat ls fdlh gks rks insZ ij dsUnzh; fÝat ls fdlh

(i) nhIr fÝat] nhIr fÝat] nhIr fÝat] nhIr fÝat] (ii)  vnhIr fÝat] dh nwjh ds fy;s O;atd LFkkfir dhft;sA vnhIr fÝat] dh nwjh ds fy;s O;atd LFkkfir dhft;sA vnhIr fÝat] dh nwjh ds fy;s O;atd LFkkfir dhft;sA vnhIr fÝat] dh nwjh ds fy;s O;atd LFkkfir dhft;sA

mi;qZDr lw= ls fÝat dh pkSM+kbZ Kkr dhft;sAmi;qZDr lw= ls fÝat dh pkSM+kbZ Kkr dhft;sAmi;qZDr lw= ls fÝat dh pkSM+kbZ Kkr dhft;sAmi;qZDr lw= ls fÝat dh pkSM+kbZ Kkr dhft;sA

In Young’s double slit experiment, the distance between two slit is 2d &

their distance from screen is D. If the wanelenght of the light is λ  then

find expression of distance for (i) a bright fringe (ii) a dark fringe from

the central fringe.  Also find expression for fringe width, by above formula.

vFkok vFkok vFkok vFkok (OR)
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Ýsusy foorZu fdls dgrs gSa \ ,d mnkgj.k nhft;sA ,d iryh f>jhZ }kjkÝsusy foorZu fdls dgrs gSa \ ,d mnkgj.k nhft;sA ,d iryh f>jhZ }kjkÝsusy foorZu fdls dgrs gSa \ ,d mnkgj.k nhft;sA ,d iryh f>jhZ }kjkÝsusy foorZu fdls dgrs gSa \ ,d mnkgj.k nhft;sA ,d iryh f>jhZ }kjk

cus foorZu izfr:i rFkk ;ax ds f}fLyV }kjk cus O;frdj.k izfr:i esa pkjcus foorZu izfr:i rFkk ;ax ds f}fLyV }kjk cus O;frdj.k izfr:i esa pkjcus foorZu izfr:i rFkk ;ax ds f}fLyV }kjk cus O;frdj.k izfr:i esa pkjcus foorZu izfr:i rFkk ;ax ds f}fLyV }kjk cus O;frdj.k izfr:i esa pkj
eq[; vUrj crkb;sAeq[; vUrj crkb;sAeq[; vUrj crkb;sAeq[; vUrj crkb;sA

What is fresnel diffreaction ? Give one example. Explain four measure

differences between diffrcaction made by single slit and interference

pattern made by Young’s double slit.

iz’u15&iz’u15&iz’u15&iz’u15& fn;s x;s fo|qr ifjiFk esa cgus okyh /kkjk dh x.kuk dhft;s&fn;s x;s fo|qr ifjiFk esa cgus okyh /kkjk dh x.kuk dhft;s&fn;s x;s fo|qr ifjiFk esa cgus okyh /kkjk dh x.kuk dhft;s&fn;s x;s fo|qr ifjiFk esa cgus okyh /kkjk dh x.kuk dhft;s&

Calculate the current flow in given circuit-

vFkok vFkok vFkok vFkok (OR)

lekUrj Øe esa tqM+s lekUrj Øe esa tqM+s lekUrj Øe esa tqM+s lekUrj Øe esa tqM+s 4Ω Ω Ω Ω vkSj vkSj vkSj vkSj 8Ω Ω Ω Ω ds izfrjks/k ds izfrjks/k ds izfrjks/k ds izfrjks/k 6Ω Ω Ω Ω ds Kkr izfrjks/k ds lkFkds Kkr izfrjks/k ds lkFkds Kkr izfrjks/k ds lkFkds Kkr izfrjks/k ds lkFk

fp=kuqlkj tqM+s gSA ehVj czht ds rkj esa larqyu fcUnq dgk¡ izkIr gksxk \fp=kuqlkj tqM+s gSA ehVj czht ds rkj esa larqyu fcUnq dgk¡ izkIr gksxk \fp=kuqlkj tqM+s gSA ehVj czht ds rkj esa larqyu fcUnq dgk¡ izkIr gksxk \fp=kuqlkj tqM+s gSA ehVj czht ds rkj esa larqyu fcUnq dgk¡ izkIr gksxk \

Two parallel resistance of 4ΩΩΩΩ n and 8 n are connected with a known

resistance of 6n as shown in the figure. Where is the balance point on the

wire of meter bridge?
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iz’u16&iz’u16&iz’u16&iz’u16& nks fHkUu vko`fRr ds izdk’k L=ksr ftuds QksVkuksa dh ÅtkZ Øe’k% nks fHkUu vko`fRr ds izdk’k L=ksr ftuds QksVkuksa dh ÅtkZ Øe’k% nks fHkUu vko`fRr ds izdk’k L=ksr ftuds QksVkuksa dh ÅtkZ Øe’k% nks fHkUu vko`fRr ds izdk’k L=ksr ftuds QksVkuksa dh ÅtkZ Øe’k% leV rFkk rFkk rFkk rFkk

2.5 e V gS] ,d ds ckn ,d&,d  gS] ,d ds ckn ,d&,d  gS] ,d ds ckn ,d&,d  gS] ,d ds ckn ,d&,d 0.5e V dk;ZQyu okys /kkrq dh lrg ij dk;ZQyu okys /kkrq dh lrg ij dk;ZQyu okys /kkrq dh lrg ij dk;ZQyu okys /kkrq dh lrg ij

vkifrr fd;s tkrs gSA muds }kjk mRlftZr izdk’k&bysDVªkuksa dh vf/kdrevkifrr fd;s tkrs gSA muds }kjk mRlftZr izdk’k&bysDVªkuksa dh vf/kdrevkifrr fd;s tkrs gSA muds }kjk mRlftZr izdk’k&bysDVªkuksa dh vf/kdrevkifrr fd;s tkrs gSA muds }kjk mRlftZr izdk’k&bysDVªkuksa dh vf/kdre
pkyksa ds vuqikr dh x.kuk dhft;sApkyksa ds vuqikr dh x.kuk dhft;sApkyksa ds vuqikr dh x.kuk dhft;sApkyksa ds vuqikr dh x.kuk dhft;sA

Light of two different frequencies,whose photons have energies leV and

2.5 e V respectively illuminate a metal one by one whose work function is

0.5e V calculate the ratio of maximum speed of the emitted photoelectrons.

iz’u 17&iz’u 17&iz’u 17&iz’u 17& f}rkj ykbu D;k gS\ blesa ÅtkZ gzkl fdrus izdkj ls gksrk gS \ mYys[kf}rkj ykbu D;k gS\ blesa ÅtkZ gzkl fdrus izdkj ls gksrk gS \ mYys[kf}rkj ykbu D;k gS\ blesa ÅtkZ gzkl fdrus izdkj ls gksrk gS \ mYys[kf}rkj ykbu D;k gS\ blesa ÅtkZ gzkl fdrus izdkj ls gksrk gS \ mYys[k
dhft,Adhft,Adhft,Adhft,A

What is two -wire lines ? Explain the ways of loss of energy through it.

iz’u 18&iz’u 18&iz’u 18&iz’u 18& izdkf’kd ;a= dh foHksnu {kerk dk vFkZ le>kb;sA lw{en’khZ dh foHksnuizdkf’kd ;a= dh foHksnu {kerk dk vFkZ le>kb;sA lw{en’khZ dh foHksnuizdkf’kd ;a= dh foHksnu {kerk dk vFkZ le>kb;sA lw{en’khZ dh foHksnuizdkf’kd ;a= dh foHksnu {kerk dk vFkZ le>kb;sA lw{en’khZ dh foHksnu

{kerk izdk’k dh rjax nS/;Z ij dSls fuHkZj djrh gS \{kerk izdk’k dh rjax nS/;Z ij dSls fuHkZj djrh gS \{kerk izdk’k dh rjax nS/;Z ij dSls fuHkZj djrh gS \{kerk izdk’k dh rjax nS/;Z ij dSls fuHkZj djrh gS \

“ bysDVªku lw{en’khZ dh foHksnu {kerk izdkf’kd lw{en’khZ dh rqyuk esa vfrbysDVªku lw{en’khZ dh foHksnu {kerk izdkf’kd lw{en’khZ dh rqyuk esa vfrbysDVªku lw{en’khZ dh foHksnu {kerk izdkf’kd lw{en’khZ dh rqyuk esa vfrbysDVªku lw{en’khZ dh foHksnu {kerk izdkf’kd lw{en’khZ dh rqyuk esa vfr

vf/kd gksrh gSvf/kd gksrh gSvf/kd gksrh gSvf/kd gksrh gS”  bl dFku dks Li"V dhft;sA bl dFku dks Li"V dhft;sA bl dFku dks Li"V dhft;sA bl dFku dks Li"V dhft;sA

What is resolving power of an optical instrument. How does resolving

power of a microscope depend upon wave lenght of light?

Explain the statement that Resolving power of an electron

microscope is much more than resolving power of an optical microscope.

vFkok vFkok vFkok vFkok (OR)

U;wure fopyu ¼dks.k U;wure fopyu ¼dks.k U;wure fopyu ¼dks.k U;wure fopyu ¼dks.k δδδδ½ dh fLFkfr esa viorZd dks.k ½ dh fLFkfr esa viorZd dks.k ½ dh fLFkfr esa viorZd dks.k ½ dh fLFkfr esa viorZd dks.k A ds fizTe esa tkrhds fizTe esa tkrhds fizTe esa tkrhds fizTe esa tkrh
gqbZ ,d izdk’k&fdj.k ij fopkj dhft;sA fn[kkb;s fd vkiru rFkkg qbZ ,d izdk’k&fdj.k ij fopkj dhft;sA fn[kkb;s fd vkiru rFkkg qbZ ,d izdk’k&fdj.k ij fopkj dhft;sA fn[kkb;s fd vkiru rFkkg qbZ ,d izdk’k&fdj.k ij fopkj dhft;sA fn[kkb;s fd vkiru rFkk
viorZu  dks.k fuEu laca/kksa }kjk iznf’kZr fd;s tk ldrs gSAviorZu  dks.k fuEu laca/kksa }kjk iznf’kZr fd;s tk ldrs gSAviorZu  dks.k fuEu laca/kksa }kjk iznf’kZr fd;s tk ldrs gSAviorZu  dks.k fuEu laca/kksa }kjk iznf’kZr fd;s tk ldrs gSA

,
2 2

rA m Ai δ =+=

Consider over a light ray passing  through a glass prism of refractive

angle A when the prism is kept in the position of minimum deviation.

Show that the angle of   incidence and angle of refraction can be expressed

by following expression.

,
2 2

rA m Ai δ =+=
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iz’u 19&iz’u 19&iz’u 19&iz’u 19& nksyu pqEcdRoekih dh lgk;rk ls nks n.M pqEcdksa ds pqEcdh; vk/kw.kksZ anksyu pqEcdRoekih dh lgk;rk ls nks n.M pqEcdksa ds pqEcdh; vk/kw.kksZ anksyu pqEcdRoekih dh lgk;rk ls nks n.M pqEcdksa ds pqEcdh; vk/kw.kksZ anksyu pqEcdRoekih dh lgk;rk ls nks n.M pqEcdksa ds pqEcdh; vk/kw.kksZ a
dh rqyuk djus dh ;ksxkUrj fof/k dk o.kZu fuEu fcUnqvksa esa dhft;s&dh rqyuk djus dh ;ksxkUrj fof/k dk o.kZu fuEu fcUnqvksa esa dhft;s&dh rqyuk djus dh ;ksxkUrj fof/k dk o.kZu fuEu fcUnqvksa esa dhft;s&dh rqyuk djus dh ;ksxkUrj fof/k dk o.kZu fuEu fcUnqvksa esa dhft;s&

(i) lw= dh O;qRifRr]lw= dh O;qRifRr]lw= dh O;qRifRr]lw= dh O;qRifRr]

(ii) voyksdu lkj.kh]voyksdu lkj.kh]voyksdu lkj.kh]voyksdu lkj.kh]

(iii) nks lS)kafrd lko/kkfu;k¡Anks lS)kafrd lko/kkfu;k¡Anks lS)kafrd lko/kkfu;k¡Anks lS)kafrd lko/kkfu;k¡A

Explain sum & difference method to compare the magnetic moment of

two magnets under following head's-

(i) Derivation of formula

(ii) Observation table

(iii) Two principle base precautions.

iz’u 20&iz’u 20&iz’u 20&iz’u 20& xkl izes; dh lgk;rk ls Bksl vkosf’kr xksys ds dkj.k fo|qr {ks= dhxkl izes; dh lgk;rk ls Bksl vkosf’kr xksys ds dkj.k fo|qr {ks= dhxkl izes; dh lgk;rk ls Bksl vkosf’kr xksys ds dkj.k fo|qr {ks= dhxkl izes; dh lgk;rk ls Bksl vkosf’kr xksys ds dkj.k fo|qr {ks= dh
rhozrk fuEu fcUnqvksa ij Kkr dhft;s&rhozrk fuEu fcUnqvksa ij Kkr dhft;s&rhozrk fuEu fcUnqvksa ij Kkr dhft;s&rhozrk fuEu fcUnqvksa ij Kkr dhft;s&

(i) xksys ds ckgjxksys ds ckgjxksys ds ckgjxksys ds ckgj

(ii) xksys ds lrg ijxksys ds lrg ijxksys ds lrg ijxksys ds lrg ij

(iii) xksys ds Hkhrjxksys ds Hkhrjxksys ds Hkhrjxksys ds Hkhrj

;g Hkh fl) dhft;s fd xksys ds dsUnz esa fo|qr {ks= dh rhozrk 'kwU;;g Hkh fl) dhft;s fd xksys ds dsUnz esa fo|qr {ks= dh rhozrk 'kwU;;g Hkh fl) dhft;s fd xksys ds dsUnz esa fo|qr {ks= dh rhozrk 'kwU;;g Hkh fl) dhft;s fd xksys ds dsUnz esa fo|qr {ks= dh rhozrk 'kwU;
gksrh gSAgksrh gSAgksrh gSAgksrh gSA

Find out the intensity of the electric field due to a solid sphere of charge,

using Gauss theorem at the following points.

(i) Outside the sphere

(ii) On the surface of sphere

(iii) Inside the sphere

And also prove that the intensity of the electric field at the centre is zero.

vFkok vFkok vFkok vFkok (OR)

oku-Mh- xzkQ tfu= dk fl)kUr ,oa dk;Z fof/k ukekafdr fp= dh lgk;rkoku-Mh- xzkQ tfu= dk fl)kUr ,oa dk;Z fof/k ukekafdr fp= dh lgk;rkoku-Mh- xzkQ tfu= dk fl)kUr ,oa dk;Z fof/k ukekafdr fp= dh lgk;rkoku-Mh- xzkQ tfu= dk fl)kUr ,oa dk;Z fof/k ukekafdr fp= dh lgk;rk

ls le>kb;sAls le>kb;sAls le>kb;sAls le>kb;sA

Give the principle and explain the working of a Van-De Graff Generator

with the help of labelled diagram.

iz’u 21&iz’u 21&iz’u 21&iz’u 21& /kkjkokgh o`Rrh; dq.Myh ds v{k esa fLFkr fdlh fcUnq ij mRiUu pqEcdh;/kkjkokgh o`Rrh; dq.Myh ds v{k esa fLFkr fdlh fcUnq ij mRiUu pqEcdh;/kkjkokgh o`Rrh; dq.Myh ds v{k esa fLFkr fdlh fcUnq ij mRiUu pqEcdh;/kkjkokgh o`Rrh; dq.Myh ds v{k esa fLFkr fdlh fcUnq ij mRiUu pqEcdh;
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{ks= dh rhozrk Kkr dhft;sA lw= dh lgk;rk ls dq.Myh ds dsUnz esa mRiUu{ks= dh rhozrk Kkr dhft;sA lw= dh lgk;rk ls dq.Myh ds dsUnz esa mRiUu{ks= dh rhozrk Kkr dhft;sA lw= dh lgk;rk ls dq.Myh ds dsUnz esa mRiUu{ks= dh rhozrk Kkr dhft;sA lw= dh lgk;rk ls dq.Myh ds dsUnz esa mRiUu

pqEcdh; {ks= dh rhozrk Hkh Kkr dhft;sApqEcdh; {ks= dh rhozrk Hkh Kkr dhft;sApqEcdh; {ks= dh rhozrk Hkh Kkr dhft;sApqEcdh; {ks= dh rhozrk Hkh Kkr dhft;sA

Find the magnetic field intensity at a point on the axis of a circular coil

carraying current and hence find the magnetic field at the centre of

circular coil carrying current.

iz’u 22&iz’u 22&iz’u 22&iz’u 22& izR;korhZ izR;korhZ izR;korhZ izR;korhZ L-C-R fo|qr ifjiFk esa fuEu dks Kkr dhft;s&fo|qr ifjiFk esa fuEu dks Kkr dhft;s&fo|qr ifjiFk esa fuEu dks Kkr dhft;s&fo|qr ifjiFk esa fuEu dks Kkr dhft;s&

(i) ifj.kkeh foHkokUrjifj.kkeh foHkokUrjifj.kkeh foHkokUrjifj.kkeh foHkokUrj

(ii) ifjiFk dh izfrck/kkifjiFk dh izfrck/kkifjiFk dh izfrck/kkifjiFk dh izfrck/kk

(iii) ifjiFk dh vuquknh vko`fRrifjiFk dh vuquknh vko`fRrifjiFk dh vuquknh vko`fRrifjiFk dh vuquknh vko`fRr

In an alternating L-C-R circuit,find out the follow ing

(i) Resultant voltage

(ii) Impedance of circuit

(iii) Resonance frequency of the circuit.

vFkok vFkok vFkok vFkok (OR)

VªkalQkeZj ds fl)kUr vkSj dk;Z fof/k dks le>kb;sA VªkalQkeZj esa fdu&fduVªkalQkeZj ds fl)kUr vkSj dk;Z fof/k dks le>kb;sA VªkalQkeZj esa fdu&fduVªkalQkeZj ds fl)kUr vkSj dk;Z fof/k dks le>kb;sA VªkalQkeZj esa fdu&fduVªkalQkeZj ds fl)kUr vkSj dk;Z fof/k dks le>kb;sA VªkalQkeZj esa fdu&fdu

dkj.kksa ls ÅtkZ {k; gksrk gS \ bUgsa fdl izdkj de fd;k tk ldrk gS \dkj.kksa ls ÅtkZ {k; gksrk gS \ bUgsa fdl izdkj de fd;k tk ldrk gS \dkj.kksa ls ÅtkZ {k; gksrk gS \ bUgsa fdl izdkj de fd;k tk ldrk gS \dkj.kksa ls ÅtkZ {k; gksrk gS \ bUgsa fdl izdkj de fd;k tk ldrk gS \

Explain the principle and working of a transformer . What are the factors,

because of which energy loss takes place and how they can be reduced?
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